Y L Y M
http://farbe.li.tu-berlin.de/hex9/hex9l0na.txt /.psonly vector graphic VG; start output
see separate images of this pager//farbe.li.tu-berlin.de/hex9/hex9.htm
Fap(X)= achromatlc receptor responses , W Fab(x,)zachron"/latic re/ceptor responses , W N Fap(X)= achromatlc receptor responses , W Fap(X)= achromatlc receptor responses , W
X a_ X /a -10%

g e —e 10 /207 10%
x) = b F (%)= b &t x)=phi_— =10 E p Lot — 107!
3 Fat) =5 yex/a a=1,00, b=1,00 3 Fanx) Xla gxila a=1,00, b=2,00 3 Fan() = () = 10%/8 + 107%/@  a=1,00, b=2,00, ¥=aIn(10)=2,302

21 w 24 F
14 g 14 /

0 0

1ox /a1 /a  a=1,00, b=1,00, a’=aln(10)=2,302 3T

-1 -1

L =28cd/n? L =28cd/n? L =28cd/n? L =28cd/n?

%, =log[L/Ly] | X, =log[L/L ] 1 3 4 x=logLLy |” 4 x =log[LiL,]

hex90-1a - hex91-1a
(%)= achromatlc receptor responses , W Fap(%)= achromatlc receptor responses , W Fab(xr)zachrong%tic {ggggtor responses , W Fap(%)= achromatlc [gceptor responses , W

gkt et (0] = 10%
)= = o) == Fo(x)=bil =10 __" o) = =T
[ Fan(%r) = ,/a+ e xila a=1,00, b=2,00 3T ab{Xr) efay gxila a=1,00, b=2,00 3T a(r) 10%/8 4 107/  a=1,00, b=2,00, a’=aln(10)=2,302 3T a(r) = 10%/@ 4+ 107/  a=1,00, b=2,00, a'=aIn(10)=2,302

21 ¥ F12 21 ﬁ Fi2

L =28cd/nm? L =28cd/m? L =28cd/nm? L =28cd/m?

34

%, =log[L/Ly] | I 4 x =log[L/L,] i 3 4 x=loglLLy |” : 4 x =log[LiL,]

hex90-4a

o(Xp)= achromatlc receptor responses , W, Fap(X)= achromatlc receptor responses , W, (%)= achromatlc receptor responses , W, « +W Fap(X)= achromatlc receptor responses , W,  +W
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